

## OPERATOR INEQUALITIES INVOLVING THE ARITHMETIC, GEOMETRIC, HEINZ AND HERON MEANS

JIANGUO ZHAO, JUNLIANG WU, HAISONG CAO AND WENSHI LIAO

(Communicated by N. Elezović)

*Abstract.* In this paper we present two improved arithmetic-geometric inequalities with Kantorovich constant (Lemma 3 and Lemma 5), based on which we provide some refinements in the operator case and then finally refer to the operator inequalities involving Heinz and Heron means.

### 1. Introduction

Throughout, let  $B(H)$  be the set of all bounded linear operators on a complex Hilbert space  $H$ . For  $A, B \in B(H)$ ,  $A^*$  denotes the conjugate operator of  $A$ ; if  $A$  and  $B$  are self-adjoint operators, the order relation  $A \geq B$  means, as usual, that  $A - B$  is a positive operator.

Let  $a, b$  be two nonnegative real numbers,  $v \in [0, 1]$ .

The  $v$ -weighted arithmetic, geometric mean of  $a$  and  $b$ , denoted by  $A_v(a, b)$ ,  $G_v(a, b)$ , respectively, are defined as

$$A_v(a, b) = (1 - v)a + vb, \quad G_v(a, b) = a^{1-v}b^v.$$

It is worth to mention that  $A_v(a, b) \geq G_v(a, b)$  for all  $v \in [0, 1]$ . This inequality is well known as Young's inequality.

In particular, if  $v = \frac{1}{2}$ , then  $A_{\frac{1}{2}}(a, b) = \frac{a+b}{2}$ ,  $G_{\frac{1}{2}}(a, b) = \sqrt{ab}$  are arithmetic and geometric mean respectively.

Parameterized family of means-Heinz means of  $a$  and  $b$  are defined as

$$H_v(a, b) = \frac{a^v b^{1-v} + a^{1-v} b^v}{2},$$

for  $v \in [0, 1]$ . Concerns Heinz means: for  $v = 0, 1$  this is equal to arithmetic mean and for  $v = \frac{1}{2}$  to the geometric mean.

Heron means [1] are the family of means defined as a convex combination of the arithmetic and the geometric mean, that is

$$F_\alpha(a, b) = (1 - \alpha)A_{\frac{1}{2}}(a, b) + \alpha G_{\frac{1}{2}}(a, b)$$

---

*Mathematics subject classification* (2010): 15A45, 15A60.

*Keywords and phrases:* Heinz means, operator inequality, positive operator, Kantorovich constant, Heron mean.

for  $0 \leq \alpha \leq 1$ .

Since  $H_\nu(a, b)$  is convex as a function of  $\nu$  and attains its minimum at  $\nu = \frac{1}{2}$ , it is obvious that

$$\sqrt{ab} \leq H_\nu(a, b) \leq \frac{a+b}{2}, \quad 0 \leq \nu \leq 1,$$

similarly,

$$\sqrt{ab} \leq F_\alpha(a, b) \leq \frac{a+b}{2}, \quad 0 \leq \alpha \leq 1. \quad (1)$$

Let  $A, B \in B(H)$  be two positive operators,  $\nu \in [0, 1]$ .

$\nu$ -weighted arithmetic mean of  $A$  and  $B$ , denoted by  $A\nabla_\nu B$ , is defined as

$$A\nabla_\nu B = (1-\nu)A + \nu B.$$

If  $A$  is invertible,  $\nu$ -geometric mean of  $A$  and  $B$ , denoted by  $A\sharp_\nu B$ , is defined as

$$A\sharp_\nu B = A^{\frac{1}{2}}(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})^\nu A^{\frac{1}{2}}.$$

In addition, if both  $A$  and  $B$  are invertible,  $\nu$ -harmonic mean of  $A$  and  $B$ , denoted by  $A!_\nu B$ , is defined as

$$A!_\nu B = ((1-\nu)A^{-1} + \nu B^{-1})^{-1}.$$

For more details, see F. Kubo and T. Ando [11].

When  $\nu = \frac{1}{2}$ , we write  $A\nabla B$ ,  $A\sharp B$ ,  $A!B$  for brevity, respectively.

The operator version of the Heinz means, denoted by  $H_\nu(A, B)$ , is defined as

$$H_\nu(A, B) = \frac{A\sharp_\nu B + A\sharp_{1-\nu} B}{2},$$

for  $0 \leq \nu \leq 1$ .

The operator version of the Heron means, denoted by  $F_\alpha(A, B)$ , is defined as

$$F_\alpha(A, B) = (1-\alpha)A\nabla B + \alpha A\sharp B,$$

for  $0 \leq \alpha \leq 1$ .

It is well known that if  $A$  and  $B$  are positive invertible operators, then

$$A\nabla_\nu B \geq A\sharp_\nu B \geq A!_\nu B, \quad (2)$$

for  $0 < \nu < 1$ . A simple and elegant proof of inequalities (2) was given in [2] and in [3] one can find a detailed approach.

S. Furuichi [6] gave a refinement of (2) as follows (Theorem 2),

$$\begin{aligned} A\nabla_\nu B &\geq S(h^t)A\sharp_\nu B \\ &\geq A\sharp_\nu B \\ &\geq S(h^t)A!_\nu B \\ &\geq A!_\nu B, \end{aligned} \quad (3)$$

where  $r = \min\{v, 1 - v\}$  and  $S(\cdot)$  is the Specht's ratio, denoted by:

$$S(t) = \frac{t^{\frac{1}{t-1}}}{e \ln t^{\frac{1}{t-1}}},$$

for  $t > 0, t \neq 1$  and  $S(1) = \lim_{t \rightarrow 1} S(t) = 1$ .

Zuo [14] et al. gave a refinement of the first inequality (3) as follows (Theorem 7),

$$K(h, 2)^r A\sharp_v B \leq A\nabla_v B, \tag{4}$$

where  $K(\cdot, 2)$  is Kantorovich constant, defined as

$$K(t, 2) = \frac{(t + 1)^2}{4t},$$

for  $t > 0$ .

In [5] (Theorem 2.1), S. Furuichi gave another refinement of (2):

$$\begin{aligned} A\nabla_v B &\geq A\sharp_v B + 2r(A\nabla B - A\sharp B) \\ &\geq A\sharp_v B \\ &\geq \{A^{-1}\sharp B^{-1} + 2r(A^{-1}\nabla B^{-1} - A^{-1}\sharp B^{-1})\}^{-1} \\ &\geq A!_v B. \end{aligned}$$

Recently, F. Kittaneh et al. [10], M. Krnić et al. [12] and O. Hirzalleh et al [7]. also studied the similar topics.

In [13], we presented some inequalities related to  $A\nabla_v B, A\sharp_v B, A!_v B$ . In this paper we proceed with the results on this topic, obtaining the operator order relations among arithmetic, geometric, Heinz and Heron means. The paper is organized in the following way: in Section 2, two improvements of the Young inequality are given (Lemma 3 and Lemma 5). Based on these two lemmas, several refinements of the operator arithmetic-geometric inequality are obtained. In Section 3, related operator inequalities involving Heinz and Heron means are presented.

### 2. On the operator arithmetic-geometric mean inequality

In this section we give refinements of the operator arithmetic-geometric inequality on the related ones. The techniques are based on the monotonicity property of operator functions, described in the following lemma (for more details, the reader is referred to [4].)

LEMMA 1. *Let  $X \in B(H)$  be self-adjoint and let  $f$  and  $g$  be continuous real functions such that  $f(t) \geq g(t)$  for all  $t \in Sp(X)$  ( the spectrum of  $X$ ). Then  $f(X) \geq g(X)$ .*

In the sequel, we make use of Lemma 2.1 from [13] which we cite here.

LEMMA 2. If  $a, b > 0$ , then for any  $v \in [0, 1] - \frac{1}{2}$ , the inequality

$$K(\sqrt{h}, 2)^{r'} a^{1-v} b^v + r(\sqrt{a} - \sqrt{b})^2 \leq (1-v)a + vb \quad (5)$$

holds, where  $h = \frac{b}{a}$ ,  $r = \min\{v, 1-v\}$  and  $r' = \min\{2r, 1-2r\}$ .

Replacing  $a$  and  $b$  by  $a^2$  and  $b^2$  in (5), respectively, we have

$$K(h, 2)^{r'} (a^{1-v} b^v)^2 + r(a-b)^2 \leq (1-v)a^2 + vb^2. \quad (6)$$

LEMMA 3. If  $a, b > 0$ , then for any  $v \in [0, 1] - \frac{1}{2}$ , the inequality

$$K(h, 2)^{r'} (a^{1-v} b^v)^2 + r^2(a-b)^2 \leq ((1-v)a + vb)^2 \quad (7)$$

holds, where  $h = \frac{b}{a}$ ,  $r = \min\{v, 1-v\}$  and  $r' = \min\{2r, 1-2r\}$ .

*Proof.* If  $v < \frac{1}{2}$ , by (6), we have

$$\begin{aligned} & ((1-v)a + vb)^2 - r^2(a-b)^2 \\ &= ((1-v)a + vb)^2 - v^2(a-b)^2 \\ &= (1-2v)a^2 + 2vab \\ &= (1-v)a^2 + vb^2 + 2vab - va^2 - vb^2 \\ &= (1-v)a^2 + vb^2 - v(a-b)^2 \\ &\geq K(h, 2)^{r'} (a^{1-v} b^v)^2. \end{aligned}$$

Similarly, if  $v > \frac{1}{2}$ , by (6), we also have

$$\begin{aligned} & ((1-v)a + vb)^2 - r^2(a-b)^2 \\ &\geq K(h, 2)^{r'} (a^{1-v} b^v)^2. \end{aligned}$$

This completes the proof.  $\square$

REMARK 1. Since  $K(t, 2) = \frac{(t+1)^2}{4t} \geq 1$  for all  $t > 0$ , the inequality (7) is a refinement of the following inequality

$$(a^{1-v} b^v)^2 + r^2(a-b)^2 \leq ((1-v)a + vb)^2,$$

which is due to Hirzallah and Kittaneh [8].

In the sequel, we make use of Lemma 2.2 from [13] which we cite here.

LEMMA 4. If  $a, b > 0$ , then for any  $v \in [0, 1] - \frac{1}{2}$ , the inequality

$$K(\sqrt{h}, 2)^{-r'} a^{1-v} b^v + s(\sqrt{a} - \sqrt{b})^2 \geq (1-v)a + vb \quad (8)$$

holds, where  $h = \frac{b}{a}$ ,  $r = \min\{v, 1-v\}$ ,  $r' = \min\{2r, 1-2r\}$  and  $s = \max\{v, 1-v\}$ .

Replacing  $a$  and  $b$  by  $a^2$  and  $b^2$  in (8), respectively, we have

$$K(h, 2)^{-r'}(a^{1-v}b^v)^2 + s(a-b)^2 \geq (1-v)a^2 + vb^2. \tag{9}$$

LEMMA 5. *If  $a, b > 0$ , then for any  $v \in [0, 1] - \frac{1}{2}$ , the inequality*

$$K(h, 2)^{-r'}(a^{1-v}b^v)^2 + s^2(a-b)^2 \geq ((1-v)a + vb)^2 \tag{10}$$

*holds, where  $h = \frac{b}{a}$ ,  $r = \min\{v, 1-v\}$ ,  $r' = \min\{2r, 1-2r\}$  and  $s = \max\{v, 1-v\}$ .*

*Proof.* If  $v < \frac{1}{2}$ , by (9), we have

$$\begin{aligned} & ((1-v)a + vb)^2 - s^2(a-b)^2 \\ &= ((1-v)a + vb)^2 - (1-v)^2(a-b)^2 \\ &= (2v-1)b^2 + 2(1-v)ab \\ &= (1-v)a^2 + vb^2 + 2(1-v)ab - (1-v)a^2 - (1-v)b^2 \\ &= (1-v)a^2 + vb^2 - (1-v)(a-b)^2 \\ &\leq K(h, 2)^{-r'}(a^{1-v}b^v)^2. \end{aligned}$$

Similarly, if  $v > \frac{1}{2}$ , by (9), we also have

$$\begin{aligned} & ((1-v)a + vb)^2 - s^2(a-b)^2 \\ &\leq K(h, 2)^{-r'}(a^{1-v}b^v)^2. \end{aligned}$$

This completes the proof.  $\square$

REMARK 2. Since  $K(t, 2) = \frac{(t+1)^2}{4t} \geq 1$  for all  $t > 0$ , the inequality (10) is a refinement of the following inequality

$$(a^{1-v}b^v)^2 + s^2(a-b)^2 \geq ((1-v)a + vb)^2$$

which is due to He and Zou [9].

Now, we present our first main result in this section based on Lemma 3. Concerning Theorem 1, it would be appropriate to mention here the results of Furuichi (with Specht's ratio) and of Zuo (with Kantorovich constant) as well as two recent papers mentioned in the beginning of the report (Kittaneh, Krnić, Lovričević, Pečarić, see [10], [12]), of which have the same assumptions and similar type of refinements.

THEOREM 1. *Let  $A, B$  be two positive operators and positive real numbers  $m, m', M, M'$  satisfy either of the following conditions:*

- (i)  $0 < m'I \leq A \leq mI < MI \leq B \leq M'I$
- (ii)  $0 < m'I \leq B \leq mI < MI \leq A \leq M'I$ .

Then

$$\begin{aligned} K(\sqrt{h}, 2)^{r'} A_{\#v}^{\#} B + 2r^2(A\nabla B - A\#B) \\ \leq (1-v)^2 A + v^2 B + 2v(1-v)A_{\#}^{\#} B \end{aligned} \quad (11)$$

holds for  $v \in [0, 1] - \frac{1}{2}$ , where  $r = \min\{v, 1-v\}$ ,  $r' = \min\{2r, 1-2r\}$ ,  $h = \frac{M}{m}$  and  $h' = \frac{M'}{m'}$ .

*Proof.* We shall use the same procedure as in the proof of Theorem 3.1 [13]. By Lemma 3, we have

$$K(\sqrt{b}, 2)^{r'} b^v + r^2(1 - \sqrt{b})^2 \leq ((1-v) + v\sqrt{b})^2, \quad (12)$$

for any  $b > 0$ , which for  $X = A^{-\frac{1}{2}} B A^{\frac{1}{2}}$  and thus for  $Sp(X) \subseteq (0, +\infty)$  then provides

$$K(\sqrt{t}, 2)^{r'} t^v + r^2(1 - \sqrt{t})^2 \leq ((1-v) + v\sqrt{t})^2, \quad (13)$$

for any  $t \in Sp(X)$ .

In the first case, we have  $I < hI \leq X \leq h'I$ , thus  $Sp(X) = [h, h'] \subset (1, +\infty)$ .

By (13), we obtain

$$\left( \min_{h \leq t \leq h'} K(\sqrt{t}, 2)^{r'} t^v + r^2(1 - \sqrt{t})^2 \right) \leq ((1-v) + v\sqrt{t})^2. \quad (14)$$

Since Kantorovich constant  $K(t, 2) = \frac{(t+1)^2}{4t}$  is an increasing function on  $(1, \infty)$ , it follows that

$$\min_{h \leq t \leq h'} K(\sqrt{t}, 2)^{r'} = K(\sqrt{h}, 2)^{r'}. \quad (15)$$

Combining (14) with (15), we obtain

$$K(\sqrt{h}, 2)^{r'} t^v + r^2(1 - \sqrt{t})^2 \leq ((1-v) + v\sqrt{t})^2. \quad (16)$$

Similarly, in the second case, we have  $0 < \frac{1}{h'} I \leq X \leq \frac{1}{h} I$ , thus  $Sp(X) = [\frac{1}{h'}, \frac{1}{h}] \subset (0, 1)$ .

By (13), we obtain

$$\left( \min_{\frac{1}{h'} \leq t \leq \frac{1}{h}} K(\sqrt{t}, 2)^{r'} t^v + r^2(1 - \sqrt{t})^2 \right) \leq ((1-v) + v\sqrt{t})^2, \quad (17)$$

Since Kantorovich constant  $K(t, 2) = \frac{(t+1)^2}{4t}$  is a decreasing function on  $(0, 1)$ , it follows that

$$\min_{\frac{1}{h'} \leq t \leq \frac{1}{h}} K(\sqrt{t}, 2)^{r'} = K\left(\sqrt{\frac{1}{h}}, 2\right)^{r'}. \quad (18)$$

Since  $K(t, 2) = K(\frac{1}{t}, 2)$ , (17) and (18) provides

$$K(\sqrt{h}, 2)^{r'} t^v + r^2(1 - \sqrt{t})^2 \leq ((1-v) + v\sqrt{t})^2. \quad (19)$$

It is worth to mention that (19) is the same as (16).

According to Lemma 1, by (16), we get the order relation,

$$K(\sqrt{h}, 2)^r X^\nu + r^2(I - X^{\frac{1}{2}})^2 \leq ((1 - \nu)I + \nu X^{\frac{1}{2}})^2. \tag{20}$$

Multiplying both sides of (20) by  $A^{\frac{1}{2}}$ , we get (11).

This completes the proof.  $\square$

Since  $A\nabla B - A\sharp B \geq 0$  and  $K(\sqrt{h}, 2)^r \geq 1$ , relation (11) provides

$$\begin{aligned} 0 &< A\sharp_\nu B \\ &\leq K(\sqrt{h}, 2)^r A\sharp_\nu B \\ &\leq K(\sqrt{h}, 2)^r A\sharp_\nu B + 2r^2(A\nabla B - A\sharp B) \\ &\leq (1 - \nu)^2 A + \nu^2 B + 2\nu(1 - \nu)A\sharp B \\ &\leq (1 - \nu)^2 A + \nu^2 B + 2\nu(1 - \nu)A\nabla B \\ &= A\nabla_\nu B. \end{aligned} \tag{21}$$

Replacing  $A$  and  $B$  by  $A^{-1}$  and  $B^{-1}$  in (21), respectively, then we obtain

$$\begin{aligned} 0 &< A^{-1}\sharp_\nu B^{-1} \\ &\leq K(\sqrt{h}, 2)^r A^{-1}\sharp_\nu B^{-1} \\ &\leq K(\sqrt{h}, 2)^r A^{-1}\sharp_\nu B^{-1} + 2r^2(A^{-1}\nabla B^{-1} - A^{-1}\sharp B^{-1}) \\ &\leq (1 - \nu)^2 A^{-1} + \nu^2 B^{-1} + 2\nu(1 - \nu)A^{-1}\sharp B^{-1} \\ &\leq (1 - \nu)^2 A^{-1} + \nu^2 B^{-1} + 2\nu(1 - \nu)A^{-1}\nabla B^{-1} \\ &= A^{-1}\nabla_\nu B^{-1}. \end{aligned} \tag{22}$$

Taking inverse in (22), we have

$$\begin{aligned} A!_\nu B &\leq \{(1 - \nu)^2 A^{-1} + \nu^2 B^{-1} + 2\nu(1 - \nu)A^{-1}\sharp B^{-1}\}^{-1} \\ &\leq \{K(\sqrt{h}, 2)^r A^{-1}\sharp_\nu B^{-1} + 2r^2(A^{-1}\nabla B^{-1} - A^{-1}\sharp B^{-1})\}^{-1} \\ &\leq K(\sqrt{h}, 2)^{-r} A\sharp_\nu B \\ &\leq A\sharp_\nu B. \end{aligned} \tag{23}$$

REMARK 3. Combining (21) with (23), we obtain a refinement of (2),

$$\begin{aligned} A!_\nu B &\leq \{(1 - \nu)^2 A^{-1} + \nu^2 B^{-1} + 2\nu(1 - \nu)A^{-1}\sharp B^{-1}\}^{-1} \\ &\leq \{K(\sqrt{h}, 2)^r A^{-1}\sharp_\nu B^{-1} + 2r^2(A^{-1}\nabla B^{-1} - A^{-1}\sharp B^{-1})\}^{-1} \\ &\leq K(\sqrt{h}, 2)^{-r} A\sharp_\nu B \\ &\leq A\sharp_\nu B \\ &\leq K(\sqrt{h}, 2)^r A\sharp_\nu B \\ &\leq K(\sqrt{h}, 2)^r A\sharp_\nu B + 2r^2(A\nabla B - A\sharp B) \\ &\leq (1 - \nu)^2 A + \nu^2 B + 2\nu(1 - \nu)A\sharp B \\ &\leq A\nabla_\nu B. \end{aligned}$$

REMARK 4. Replacing  $v$  by  $1 - v$  in (21), then combining (21) we have

$$\begin{aligned}
 0 &< H_v(A, B) \\
 &\leq K(\sqrt{h}, 2)^r H_v(A, B) \\
 &\leq K(\sqrt{h}, 2)^r H_v(A, B) + 2r^2(A\nabla B - A\sharp B) \\
 &\leq \frac{(1-v)^2 + v^2}{2}A + \frac{(1-v)^2 + v^2}{2}B + 2v(1-v)A\sharp B \\
 &\leq \frac{(1-v)^2 + v^2}{2}A + \frac{(1-v)^2 + v^2}{2}B + 2v(1-v)A\nabla B \\
 &= A\nabla B,
 \end{aligned}$$

which is a refinement of  $H_v(A, B) \leq A\nabla B$ .

The following result is Based on Lemma 5.

THEOREM 2. Let  $A, B$  be two positive operators and positive real numbers  $m, m', M, M'$  satisfy either of the following conditions:

- (i)  $0 < m'I \leq A \leq mI < MI \leq B \leq M'I$
- (ii)  $0 < m'I \leq B \leq mI < MI \leq A \leq M'I$ .

Then

$$\begin{aligned}
 K(\sqrt{h}, 2)^{-r'} A\sharp_v B + 2s^2(A\nabla B - A\sharp B) \\
 \geq (1-v)^2 A + v^2 B + 2v(1-v)A\sharp B
 \end{aligned} \tag{24}$$

holds for  $v \in [0, 1] - \frac{1}{2}$ , where  $r = \min\{v, 1 - v\}$ ,  $s = \max\{v, 1 - v\}$ ,  $r' = \min\{2r, 1 - 2r\}$ ,  $h = \frac{M}{m}$  and  $h' = \frac{M'}{m'}$ .

Proof. By Lemma 5, we have

$$((1-v) + v\sqrt{b})^2 \leq K(\sqrt{b}, 2)^{-r'} b^v + s^2(1 - \sqrt{b})^2 \tag{25}$$

for any  $b > 0$ .

With  $X = A^{-\frac{1}{2}}BA^{-\frac{1}{2}}$  and thus  $Sp(X) \subseteq (0, +\infty)$ , relation (25) provides

$$((1-v) + v\sqrt{t})^2 \leq K(\sqrt{t}, 2)^{-r'} t^v + s^2(1 - \sqrt{t})^2 \tag{26}$$

for any  $t \in Sp(X)$ .

By the same procedure as in Theorem 1, we can obtain

$$((1-v) + v\sqrt{t})^2 \leq K(\sqrt{h}, 2)^{-r'} t^v + s^2(1 - \sqrt{t})^2 \tag{27}$$

By Lemma 1, we have

$$((1-v)I + vX^{\frac{1}{2}})^2 \leq K(\sqrt{h}, 2)^{-r'} X^v + s^2(I - X^{\frac{1}{2}})^2 \tag{28}$$

Multiplying both sides of (28) by  $A^{\frac{1}{2}}$ , the proof is completed.  $\square$



### 3. Operator inequalities involving the Heinz and the Heron means

In the last section, we present some inequalities related to the Heron means. It is easy to see that the following inequalities hold

$$A\sharp_{\alpha}B \leq F_{\alpha}(A, B) \leq A\nabla B, \quad (29)$$

for  $0 \leq \alpha \leq 1$ , where  $A, B$  are positive and invertible operators. (29) is a refinement of the following inequality,

$$A\sharp B \leq A\nabla B,$$

which is due to T. Ando [11].

In [1], Bhatia gave the following inequality between the Heinz and Heron means,

$$H_v(a, b) \leq F_{\alpha(v)}(a, b), \quad (30)$$

for  $v \in [0, 1]$ , where  $\alpha(v) = 1 - 4(v - v^2)$ .

Basing on (30), we have the following Theorem.

**THEOREM 3.** *Let  $A$  and  $B$  be two positive and invertible operators. Then*

$$H_v(A, B) \leq F_{\alpha(v)}(A, B), \quad (31)$$

for  $v \in [0, 1]$ , where  $\alpha(v) = 1 - 4(v - v^2)$ .

*Proof.* Let  $X = A^{-\frac{1}{2}}BA^{-\frac{1}{2}}$ . Then  $Sp(X) = (0, +\infty)$ . Thus for  $t \in Sp(X)$  we have, by (30):

$$\frac{t^v + t^{1-v}}{2} \leq (1 - \alpha(v))t^{\frac{1}{2}} + \alpha(v)\frac{t+1}{2}. \quad (32)$$

By Lemma 1, we have

$$\frac{X^v + X^{1-v}}{2} \leq (1 - \alpha(v))X^{\frac{1}{2}} + \alpha(v)\frac{X+I}{2}. \quad (33)$$

Multiplying both sides of inequality (33) by  $A^{\frac{1}{2}}$ , the proof is completed.  $\square$

**REMARK 5.** Because of  $A\sharp B \leq A\nabla B$ , (31) is a refinement of the inequality  $H_v(A, B) \leq A\nabla B$ .

*Acknowledgement.* The authors are grateful to the Professor M. Krnić and the referee for their valuable comments, corrections and suggestions which lead to a great improvement of this paper. This work is supported by the National Natural Science Foundations of China (Grant Nos. 70872123 and 11161040).

## REFERENCES

- [1] R. BHATIA, *Interpolating the arithmetic-geometric mean inequality and its operator version*, Linear Algebra Appl. **413** (2006), 355–363.
- [2] T. FURUTA AND M. YANAGIDA, *Generalized means and convexity of inversion for positive operators*, Amer. Math. Monthly. **105** (1998), 258–259.
- [3] T. FURUTA, *Invitation to linear operators: From matrix to bounded linear operators on a Hilbert space*, Taylor and Francis, 2002.
- [4] T. FURUTA, J. MIČIĆ HOT, J. PEČARIĆ, *Mond-Pečarić Method in operator inequalities*, Element, Zagreb, 2005.
- [5] S. FURUICHI, *On refined young inequalities and reverse inequalities*, J. Math. Inequal. **5**, 1 (2011), 21–31.
- [6] S. FURUICHI, *Refined Young inequalities with Specht's ratio*, J. Egypt. Math. Soc. **20** (2012), 46–49.
- [7] O. HIRZALLAH, F. KITTANEH, M. KRNIĆ, N. LOVRIČEVIĆ AND J. PEČARIĆ, *Eigenvalue inequalities for differences of means of Hilbert space operators*, Linear Algebra Appl. **436** (2012), 1516–1527.
- [8] O. HIRZALLAH AND F. KITTANEH, *Matrix Young inequality for the Hilbert-Schmidt norm*, Linear Algebra Appl. **308** (2000), 77–84.
- [9] C. J. HE AND L. M. ZOU, *Some inequalities involving unitarily invariant norms*, Math. Inequal. Appl. **12**, 4 (2012), 767–774.
- [10] F. KITTANEH, M. KRNIĆ, N. LOVRIČEVIĆ AND J. PEČARIĆ, *Improved arithmetic-geometric and Heinz means inequalities for Hilbert space operators*, Publ. Math. Debrecen, **80/3–4** (2012), 465–478.
- [11] F. KUBO AND T. ANDO, *Means of positive operators*, Math. Ann. **264** (1980), 205–224.
- [12] M. KRNIĆ, N. LOVRIČEVIĆ AND J. PEČARIĆ, *Jensen's operator and applications to mean inequalities for operators in Hilbert space*, Bull. Malays. Math. Sci. Soc., **35**, 1 (2012), 1–14.
- [13] J. WU AND J. ZHAO, *Operator inequalities and reverse inequalities related to the Kittaneh–Manasrah inequalities*, Linear and Multilinear Algebra. in press.
- [14] H. L. ZUO, G. H. SHI AND M. FUJII, *Refined Young inequality with Kantorovich constant*, J. Math. Inequal. **5** (2011), 551–556.

(Received September 28, 2013)

Jianguo Zhao  
College of Science, Shihezi University  
Shihezi, Xinjiang, 832003, P. R. China  
and  
College of Mathematics and Statistics  
Chongqing University  
Chongqing, 401331, P. R. China  
e-mail: jgzhaodj@163.com

Junliang Wu  
College of Mathematics and Statistics  
Chongqing University  
Chongqing, 401331, P. R. China  
e-mail: jlwu678@163.com

Haisong Cao  
College of Mathematics and Statistics  
Chongqing University  
Chongqing, 401331, P. R. China  
e-mail: haisong\_cao@163.com

Wenshi Liao  
College of Mathematics and Statistics  
Chongqing University  
Chongqing, 401331, P. R. China  
e-mail: liaowenshi@gmail.com